PARTS LIST
ITEM] QTY | PART NO. PART DESCRIPTION LENGTH | UNITWT. | NETWT.

1 | 4 | xF4PHRW |CORNER WELDMENT FOR 4-SIDED FORTRESS PLATFORM HADNRAIL KITS 19.32 77.27
2 | 16 | X-SCX3-FR FORTRESS CROSSOVER PLATE 6.61 105.82
3 | 4 P2174 2-3/8" OD X 174" SCH 40 GALVANIZED PIPE 174in 55.75 222.98

4 | 32 | x-uB5300 5/8" X 3" X 5-1/4" X 2-1/2" U-BOLT (HDG.) 1.15 36.78

5 | 72 | x-uBs258 5/8" X 2-5/8" X 4-1/2" X 2" U-BOLT (HDG.) 1.00 72.01

6 | 144 | G58FW 5/8" HDG USS FLATWASHER 1/81in 0.07 10.15

235" 1O 2.715" 7 [ 144 cs8LW 5/8" HDG LOCKWASHER 0.03 3.76

ANTENNA MOURTING DIpES 8 | 144 | G58NUT 5/8" HDG HEAVY 2H HEX NUT 0.13 18.70
(ORDERED SEPARATELY) TOTALWT. #]| 547.48

DETAIL A

TOLERANCE NOTES DESCRIPTION 7h°e‘\:~a$2?::Nv

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: HANDRAIL KIT FOR gROIE 1 Ergineering  Allanta, oA "

SAWED, SHEARED AND GAS CUT EDGES (# 0.030%) A ™ upport Team: Lo Angeles,

DRILLED AND GAS CUT HOLES (#0.030") - NO CONING OF HOLES 14'4-SIDED FORTRESS™ PLATFORM . 1-888-753-7446  Plymouth, IN

LASER CUT EDGES AND HOLES (# 0.070% - NO CONING OF HOLES A valmont 4% couNY Dallas, TX

BENDS ARE t 1/2 DEGREE

ALL OTHER MACHINING (_-t 0,030'7 CPD NO. DRAWN BY ENG. APPROVAL PART NO. -

ALL OTHER ASSEMBLY (£ 0.060") CEK  8/29/2017 F4P-HRK14 oz

:"Rgmam’mﬁ INTHIS DRAWING LMONT CLASS| SUB | DRAWING USAGE CHECKED BY DWG. NO. m %
va o

e T T o [81]02] OCUSTOMER F4P-HRK14




F#-"'m“f-‘:‘n‘-'w“w'w'-‘#

L
)
L
e
RSN

e
RN
ALY

i

A
L T

[
BT
VARMSAS

#M\.WMM.‘I-‘!
it

- T o o
| | & | |
| LT | |

%::4
%

|

g;

&k p -
[ — a .
4 —hl l— =l le— d ‘x;«_mmg\ﬁ%_
S AT T 7% g 1 B AN T TS T 8 e R

) dle ¢ Vet oy e NN

i LAl N

g Vet oy e LS

TOLERANCE NOTES DESCRIPTION - N fors:

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: HANDRAIL KIT FOR 1 LEnginecring  Atanta GI’A o

SAWED, SHEARED AND GAS CUT EDGES (# 0.030) "™ ™ upport Team:  Los Angeles,

DRILLED AND GAS GUT HOLES (#0.030") - NO CONING OF HOLES 1474-SIDED FORTRESS™ PLATFORM . 1-888-753-7446  Plymouth, IN

LASER CUT EDGES AND HOLES (£ 0.070") - NO GONING OF HOLES A valmont WP coveANr Dallas, TX

BENDS ARE t 1/2 DEGREE

ALL OTHER MACHINING (£ 0.030") CPD NO. DRAWN BY ENG. APPROVAL PART NO. o

ALL OTHER ASSEMBLY (£ 0.060%) CEK  8/29/2017 F4P-HRK14 o3

:"R:mTE{::'VNOTE NTHIS LMONT CLASS| SuB | DRAWING USAGE CHECKED BY DWG. NO. m g
D DRAWING VAI N

e e T e ¥ |81]02] CUSTOMER F4P-HRK14




